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EXERCISE 7.6

Integrate the functions in Exercises 1 to 22.

I. xsinx 2. xsin3x 3. xler 4. xlogx

5. xlog2x 6. x*logx 7. xsin”'x 8. xtan™ x
x cos'x

9. x cos! x 10. (sin'x)? 11. 12

= 2. xsec’x
Jl—x

13. tanx 14, x (log xy I5. X2+ 1)logx
xe .| 1+sinx
X 3 — i e —
16. € (sinx + cosx) 17. ﬂ+x)g 18. [+ cos x
I r[l I ] | (x—3)e* .
9, €| ———— 20, ———— =3 21. e¥si
12 {x—l]a e~ sin x
__]( 2x
22, sm 3
|+ x°
Choose the correct answer in Exercises 23 and 24.
23. szefrix equals
I e I o
(A) —e* +C (B) —e” +C
3 3
Lt L
(C) 3 (D) ’26 -
24. je"&ecx{tﬂanx}dx equals
(A) e'cosx +C (B) e secx +C

(C) ersinx+ C (D) ectan x + C
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